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\_pz_itg_ _ Course: math1314newcoreq2019 finaim1314COC026sullljRZZ01 “

- Find the following for the function f(x) = 4x% + 4x - 3.

(a) f(0) (b) f(2) (c)f(-2) (d) f(-x)
(e) —f(x) (0 fx+ 1) (9) f(3x) (h) f(x + h)

(a) f(0) = ' (Simplify your answer.)

(b) f(2) = (Simplify your answer.)

~—

(€) f(-2)= (Simplify your answer.)
(d) f(-x) = (Simplify your answer.) 5
(e) —f(x)= (Simplify your answer.) |
() fx+ 1) = (Simplify your answer.)
(g) f(3x) = (Simplify your answer.)
(h) f(x + h) = (Simplify your answer.)
Answers -3

21
5 |
4x% -4x-3 /
~4x* - 4x+3
4x% +12x+5
36x% + 12x - 3

4x? + 8hx + 4h? + 4x +4h -3
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2. Find the domain of the function.

f(x) = 4/2x - 14

The domain is | . (Type your answer in interval notation.)

Answer: [7,00)

ID: 1.1.59
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = 3x + 2; g(x) = 5x - 9 ( t9.)) <
AR~ 5 (<)
Gxri) (5%~5) =
DXL TS =
What is the domain of f + g? Select the correct choice below and, if nec__ssary, Aill- m-th.gl\

choice. < ?X’??

() A The domain is {x| }-
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as heeded.) Vi
(/‘ f})fj(’ ) ¢

() B. The domain is {x| X is any real number}. e / o
Fd) — D04 ¢

(a) Find (f + g)(x).

f+g)(x)= (Simplify your answer.)

to complete your

T iy ""’)d /)/)

:I

J\

C

(b) Find (f— g)(). / 3 A~ ) —(S’}\/f‘ 4 ) ~
(f-9)(x) = (Simplify your answer.) 3 , ~ ;
—— 3XAL — SHA] 2 /
What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer b complete your. )
choice. G:—;z)(’_r/, = \\‘ mam (f},ﬂ ‘/)/7)
) A. The domain is {x| S ,,}* = d

(Use integers or fractions for ény numbers in the expression.:]? a comma to separate
answers as heeded. o g
) ¢ ]) M 4

() B. The domain is {x| X is any real number}. / C ) -
() &« GX) -

e (3x 42 ) ($X—5)
(feg)(x) = ' (Simplify your answer.) / r)/,L B 179( _/_ /))( ~/ ,_.:

What is the domain of f - g? Select the correct choice below and, if necessary, fill in the answer box to com your choice,
(_}mé &Y

A. The domain is {x| 3 Q_/S’/)( | 7Xq / {_ . ( "/X? /}/) /

(Use integers or fractions for any numbers in the expression. Use acommato s separate
—9 =
answers as needed.) ﬂ ‘l

B. The domain is {x| x is any real number}. (—[ )‘{?(/ X — G449 2 J7r9

,,L) : _ J“ )( -
2% ___ )
(é] (x)= (Simplify your answer.) /fj)('f L \\* —

B X5 = X

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer bo:{complete your choice:— \\

5] = x—7 e g7 B

)

d F'd(i] ‘i
@ Find | = |0 5
S

A. The domain is {x|

answers as needed.)

%, (c) = /’87~7

(Use integers or fractions for any numbe ( f the expression. Use a comma to separate

B. The domain is {x| x is any real number}.

(e) Find (f+ g)(2).

20f28 8/14/2019, 7:44 AM
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(f+g)2)= (Type an integer or a simplified fraction.) (/ ))/)() = __2/\/'_7,//
() Find (f-g)(3). /—_4)/(?) ’“2 /3) ’f’//

f-9)(3)= (Type an integer or a simplified fraction. ) 6 —-6) (3) ~ - .71%

(9) Find (f- g)(4). ) (3) r

(fe-g)4)= (Type an integer or a simplified fra ction)—

Leg i) = 15X 17 xm) 7
f | .,/)/q) /ST ~17(4 )= §
pR— / )/?/ =/sTE)9) ~7/%) ¥
- 5) /%) < (5176) —1 7(%) Y
B. The domain |s{x|X|sanyreaI number}. )ﬁ// ZY‘) — 6' i */5

-2x+ 11

B. The domain is {x| x is any real number}. e 7 *IX /
15x% - 17x - 18 /,7)/9 /{5/ <
”///

B. The domain is {x[ X is any real numbe

i
(h) Find (g ] (1).

Answers 8x -7

= Fw= Y-

9 I
A. The domain is {xl | x#g

(Use integers or fractions for any numbers in the exp sion. Use a comma to separate answers as needed.)

9 3()

154 7
750
% ) ( ) i 18 /
- £ “!)
ID: 1.1.67 P

4. fix + h) f(x)
Find the difference quotient of f; that is, find ———————, h# 0, for the following function. Be sure to simplify.

(Gth) < ~ﬁm¢u )~ a4 pg)

f(x) = %% - 9x + 6

flx+h) =109 (X!‘ )()(11,) "-s,(—- 9h 6~ X 17{ z
T ——— z

(St bt gt —~5K —S5h 16 ~ K ik - /
Answer: 2x +h - 9 /] C( _ ' /
5 (e

toxh ¢yl ~5% —=ff iy +6 x’ _,7{,5
ID: 1.1.83 N
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5. Determine whether the graph on the right is that of a function by using the vertical-line Ay
test. If it is, use the graph to find the following. 8-

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function? Choose the correct answer below.
A. Yes, the graph is a function because every vertical line intersects the graph in more than one
~ point.

U/B// Yes, e graph is a funchon [because every.vertical line intersects the graﬁh in at most one
pomt

C. No, the graph is not a function because a vertical line x = - 4 intersects the graph at two
points.

D. No, the graph is not a function because a vertical line x = — 4 intersects the graph at only one
point.

(a) What are the domain and range of the function? Select the correct choice below and, if necessary, fill in the answer
box(es) to complete your cho:tré/‘, (,,( ri)4 ,r } b.-;»ﬁu v ) Tu# \

"'_.7 . =
-i(—//. The c@mam is ("5 ()) ThTﬁnge is /’”"?{‘J ; & )

(Type your answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

o Crop X

The i lercept(s) isfare
(Type-an-ardered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.

C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

[] A. The graph is symmetric with respect to the y-axis.
[(] B. The graph is symmetric with respect to the origin.
[[] €. The graph is symmetric with respect to the x-axis.
Mﬁ;_‘_l’he graph has no symmetry. k

] E. The graph is not that of a function,

4 of 28 8/14/2019, 7:44 AM
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Answers B. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (=5,0) . Therange is (= 00,4)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (=1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

\)‘“”9y \;J""Y A
(a)" W‘hal are the htercepts’;“ A

—i1,9) (20) (9, 2)

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) Theﬁémain}s [~3 30) 6(/4’/( "’)""‘J

(Type y ran“{\;ver in interval notatlon) j
T?ge’?éﬁg;is CO, 13 l #\’“‘ TJop

(Type your answer in intefval notatlon.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

” ﬂ: -, »”

. e, W (2 57

A The graph E,increasin_g on [ // q ‘S Z/ 3 >
(Type your answerin interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

U’:\ The graph is l:(\creasu‘lg on ( 5 ﬁl] EU éj

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.
On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.
A. The graph is constant on

(Type your answer in interval notation. Use a comma to separate answers as needed.)

] Crﬁ _The graph is not constant on any interval. _

(d) The functionis (1)

(1) even. —_— ":-.\
< % neither odd noreven. -
odd.

6 of28 8/14/2019, 7:44 AM
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Answers (- 1,0),(2,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasing on [~-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on '[-3,-1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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7. The function f is defined as follows.

4+x ifx<0
fg=¢
X if x=20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) T@‘.Bﬂhe function fis | (r—?¢’, f\éﬂ) e@*ﬁ[/ //)A /)

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
X—-w\!-#-iy‘)‘ + ) #.)(,-;-q Le 2y

O A Th@t;;;_tg)‘im‘are (—-*?/ V) . (9,0 )&p—w«a#m,} L

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph of f(x) below.
g

O D.

p g Z i fl Jirn
(d) Th l'angefgf the function fis  (— 1:-/’ ) ( 301 Tup
g,; (E=Z 02) )

(Type nswer in interval notation.)
Answ_?rs (= o0,00) _ S )
A. The intercept(s) is/are = (—4,0),(0,0) . / U J?

(Type an ordered pair. Use a commf._to_sepgrate answers as neede.)

Srephng
\“ C q/ Ca / < J’UK J

.

(_ wlm)

N\
\

WP pd
o & \
G+xX — ( (< OD? .t/, ek
2 1K
L » Voo CZ'«.’I_S/ /
Y, 7 X = ( Z0) Tirgl/

80f28 )  8/14/2019.7:44 AM
B
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) FO) =f(x) +2 (b) G(x) =f(x + 5) (c) P(x) = - f(x)

1
(d) Hx) =f(x +2)- 3 (e) Q) = 5 f(x) (M a(x) =f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) =f(x) + 2 below!

O A, O B.

(b) Choose the correct graph of G(x) = f(x + 5) below.

O A. O B.

(d) Choose the correct graph_of H(x) = f(x + 2) - 3 below.
~

1
(e) Choose the correct graph of Q(x) = gf(x) below.

9 0f28 8/14/2019, 7:44 AM
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(f) Choose the correct graph of g(x) = f(— x) below.

O A. O B.

10 of 28 8/14/2019, 7:44 AM
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Answers

ID: 1.6.63
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9.

12 of 28

(a) Graph f(x) = |x - 3| - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 'U:
that lies below the x-axis. 8
(a) Graph f(x). ]
(Use the graphing tool provided to graph the function.) dj
24
(b) The area of the region bounded by f and the x-axis that ! .
lies below the x-axis is square units. ey ; - —r—— ' ' >
(Simplify your answer.) W A B R A 2' = W& op
=
ﬁ_

Answers

8/14/2019, 7:44 AM
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10. Findt z./er/o,sféf the quadratic function ctonnd What are the x-intercepts of the graph of the funchon f ) f /

e 20«’
Q(X)=3X2-4x-4 (37\ 'ré) Z)’Zl O

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

https://xlitemprod. pcarsoncrnj,ca m/a rfvl/prmt/math

(i A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

i B. are - gx ,,Z = O @A X 7 —
Ay oL o KAl TITL //

A 2 A=
Answer: A. The zeros and tE ’it/ntercepts are the same. They are - 5,2 : - Z

e = o~ -
ID: 2.3.19 ()(' /gﬁ A

o — —
ra =

— e —
———

11. Find th zeros pf the quadratic function usmg(ﬂ'l\ez square root melho&?&ﬂhat are the x-intercepts of the graph of the
function —_—

g(x) = (x-6)° = 25

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

¢ A, The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

() B. are

Answer: A. The zeros and the x-intercepts are the same. They are | 11,1

o) i =0
(/'(~Cy2': L rtwrle

mh ’i’(/ZS’

//(,’i’t(/ |
K—6=~5s O~ N— 6=
yfé,fcf;ﬁgff SO =676 =

Q(f/>c

e ——
s

5 = —
13 of 28 8/14/2019, 7:44 =
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12. Find the zeros, if any, of the quadratic funclion__using;" t e‘ﬁjadratic formula. ,Mat are the x-intercepts, if any, of the graph
of the fynction?

—

f(x) = 8x% + 3 + 12

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
[ / / separate answers as needed.)

) A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are

i) €. There is no real zero solution and no x-intercept.

-3+4/3 -3-43
4 : [

4

Answer: A. The zeros and the x-intercepts are the same. They are

ID: 2.3.47

L= XT3 /U

——

Cag~ IXPHIX+ TS
a= 7, b=/, C =3

><
\
O
i
\ §\
‘f\;
~<\
A\
f\
AN
\
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( by
_/ For the quadratic function f(x) = x* - 4x - 12, answer parts (a) 20~M
through (c). 1
16
(a) Graph the quadratic function by determining whether its ’ 2
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 8
Does the graph of f open up or down? 4
] X
up 20 .16 -12 8 4 ] 4 & 12 16 20
down H
What are the coordinates of the vertex? 4
42-
The vertex of the parabola is
(Type an ordered pair. Use integers or fractlons for any 164
numbers in the expression.) ?]'
20-

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

16 of 28 8/14/2019, 7:44 AM
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Answers up
(2,-16)
x=2

A. The x-intercept(s) is/are 6,-2 _
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is =12 .(Type an integer or a decimal.) —

i ¥t sx—( L

4

ID: 2.4.37

= /L\
X—hux = (1

L?/Wu;) - —/0
LO’}/WCXi/J

- T
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Determine the quadratic @s graph is diven _';)* The quadratic function which describes the given graph is
<G (3

below. )éw- 3 ) — f(x) = l

14.

(Type an expression.) s \ el )
L - Z_Kwé/{' (0—________;— _s
Y-a (0 3-)«2 '3 ;7';‘;":“7 |
""(? @("3) ”'f_,{ y= ( (‘)(""‘3)4*/1’
=4 \(-3)(’:’ 4 Yl (kNK3) =13
—= &(q) "> - ((x Lag-3xrs) =13
e Fo—I 9= ((x =3 |
r—/ﬂ“,} = J&— 'f'//y = [ (X ~6x79) )3
" G = 7& Sy 2/
~ v ﬁ\/ ”__../ B ) i“—— . ~
Answer: 42 _ gy 4 fk - ir// 9 = )( *‘G}(j
. C\\.' / 4}“\1/5-* ‘{"’C =

ID: 2.4.49

—— —— "
15. Determine, without graphing, whether the given quadratic function has@e or a minimum value and then find

the value.

f(x)= - 2x° +20x - 1 7[5(/ =

Does the quadratic function f have a minimum value or a maximu alue?“ e ’L

(") The function f has a minimum value. —

FHep gpent
(_}  The function f has a maximum value.

What is this minimum or maximum value?

_ | e, L( e ( ""/ Ak
(Simplify your answer.) V dais 2;:; ./( !
Answers The function f has a maximtm vaglue. -
ST ()
D:2458 (70— [ —L< % (L
s Vrly= _

—Y \--‘_“'-( A,

Volog = ( <, /7[(5))
\/e/l? - (5, ~2(s) %"—fZ«J/ s)t1)
Verls, ,.f;(y/ -7 (s—)@’j“‘(’ 274
Verl oy~ /5’ —2(2s) Tt It/ )
Ve ley i/f —$0 /v ] )
i Ve = 05 g0 1)

8/14/2019, 7:44 AM
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/05‘—'%;

16. Use the rational zeros theorem to find all the real zeros of the polynomlal function. Use the zeros to factor f over the real

numbers. —é IX —7‘/6/( -'""6,( ’___’/(7/ éq s A~

_.3 2 _ oo i S P
f(x)=x" +6x° -9x— 14 /*SL' Lo s£ S A

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A x=
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or T /
fractions for any rational numbers in the expression. Use a comma to separate answers as ) . 7 T 2 F 7
needed.) T/"(/ T 7 .
{) B. There are no real zeros. K f ! g
Use the real zeros to factor f. ﬁét j;l Ft,’/z—— ’f |
¢ £ 4% )T

f(x) = |
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.)

Answers A. x=| -7, -1,2 | ﬂ)jji
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the expression. Use a comma to sep rate answer j needed,)

LIS

(x+1)(x+7)(x~2) VZS( S Gt
Tr

ID: 3.2.45

y‘x
l s~y (& P
N tsx ~/%=
((— P +7) =2
X=2 =0 o K+92zo
/(”_Z__’_"f’; [ T oFL dﬂ /(—;‘7 7 —J—7

o TR
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17. Find the vertical, hc&an[al. an@ﬂique asymptotes, if any, for the following rational function.
o 5 g

2x - Rt

x+20 X.,f U —o
Select the correct choice below and fill in any answer boxes within your choice.

%fé(/f’— o = U’ L v
() A. The vertical asymptote(s) is/are x = - =

(Use a comma to separate answers as needed.) \/  — Z U\‘*
i) B. There is no vertical asymptote.

R(x)=

Select the correct choice below and fill in any answer boxes within your choice.

() A. The horizontal asymptote(s) is/are y = :
Use a comma to separate answers as needed. W

e i ! =—20Y

i) B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

() B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -20 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 2 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.
02X
RX] = 5
ID: 3.4.45 /(j_" Z«J

ﬂ%/ :

C/(*(Zu

'/717&:"'%&«*/) 746’/ /«/ /—4/%"‘"
art¢ S rL

[ 3 47 © C)ZA}b% ﬁ¢7m,05[<

= e S— w




finalm1314COC026sulllljjRZZ01-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

18. Forf(x) = 5x + 8 and g(x) = 8x, find the following composite functions and state the domain of each.

21 of 28

(@) fog (b) gof (c) fof (d) gog
(@) feg)(x)= (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo gis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o f(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of g ofis {x| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (foH)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o fis all real numbers.
(d) (gog)x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainofgogis {x| 7 }
(Type an inequality. Use |ntegers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 40x + 8
B. The domain of f o g is all real numbers.
40x + 64
B. The domain of g o f is all real numbers.
25x+48
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.
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ID: 4.1.23

Haz sx+ ¥ A 50)° FX
A 569)=
A 7<) <

5/(7) y =

/M’ 5’3(%0’ %\/ f(’()“ix

(50 ) <
5( fe) ®
9( sxry) =

(5/%'7‘501 Jd/”ﬂ&«

C’M@ S

\
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0
,é(): SY7 7 4 9(x)= ¥x
(o F)x =
L Fa)<
A Sxi) = o
e =
S (f%+fz/+ J ?7 / (:Ll MG \
LsX = Y24~ )
QZS’){T I (=95 79 _»
//

= \\

,[547 s+ § A 504 = Fx

—
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¥
The function f(x) = 9x + 3 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20+
(b) Find the domain and the range of f and f T 16-
(c) Graphf, f~ 1, and y = x on the same coordinate axes. -
- 8..
@f "00= ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ] X
_ _ _ _ 0 16 12 8 4 | 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4
necessary, fill in the answer box to complete your choice. ]
8]
O A. The domain is {x[xs - V«_ruﬂ}. _12_:_
© B. The domain is {x|x2 } 167
© €. The domain is {xlx# }. 0]

() D. The domain is the set of all real

numbers. /[ % / - 9 )/,74 3

Find the range of f. Select the correct choice below and, if 5 7 =
necessary, fill in the answer box to complete your choice. _ —

w = VYRV B B
O A. Therangeis {y|y2 } //:/V Ve s

N .

O B. The range is {y|ys } X - 7 7 ’f@ )(/‘7
O C. The range is {yly# S _} /!/)/
{0 D. The range is the set of all real numbers. X ,-3 — 7 ) ' ) |
Find the domain of f~ | Select the correct choice below and, if — ?’

)
Y

()

necessary, fill in the answer box to complete your choice. X o 3

A. The domain is {xle_w - ;,_M_}' j
B. The domain is {Xl’”e,, . } X’,
//&’j"—

C. Thedomainis {x|xs }.
() D. The domain is the set of all real

bers. = .4
numbers L”l 1 (/

Find the range of f B 1. Select the correct choice below and, if .
necessary, fill in the answer box to complete your choice. (7

A. The range is {y|y# }
B. Therangeis {y|y2 }
C. Therangeis {ylys b,

D. The range is the set of all real numbers.

(c) Graph f, f~ 1 , and y = x on the same coordinate axes. Use

the graphing tool to graph the functions.
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x-3
9

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.

D. The domain is the set of all real numbers. = - e "*)

D. The range is the set of all real numbersﬁd;_{/ J7,) 3 F 74
/ H,q % > J (A

,//f_ﬂ \r
A g
[ (A) '
t
20 :
A
ID: 4.2.53
_20_. Solve t;quation. » 2 .,}(" “f'/_k’/— | r- SP - )( B ~
A Y ('Z ) :‘(2 },(,"V// le

The solution set is T
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

~IX +2% £ X
Answer: 4 2 < 2
—X T §X
~Ix T s$x—2F
X —=sX T §A —2F—TX

ID: 4.3.73

- —
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21. Solve the equation. Zuj & (Zf’fj) = 2
log 5(2x+5)=3 k‘______f__;:r)
: - . : % , A
Change the given logarithmic equation to exponential form. 2 — Z ) — o W/~
- X )
(Type an equation. Do not simplify.) :2 G Z i 2 c Z X"/ bY

The solution set |s{ }v X — Z )( + >/

(Simplify your answer. Use a comma to separate answers as needed.) -
Pt s dtwr =

3 %

2 3 X
2 T 2
’ 2/ - ’% "’/(

ID: 4.4.91-Setup & Solve

22. Solve the logarithmic equation/? /U;; ()()()(-7‘ (,') z V(;‘g/j,f(/“ & ./}(Cﬁé
log x+ log (x+9)=1 lbl?;?(z)(’(_{ c?)f / é()j[l)v—(;é(/) (/-f‘i/:

Determine the equation to be solved after removing the-legarithm. 7 }( [) L. ¢5 ( (D) =7
@ /C) /-_— X (/(hf C,‘) Goud 6‘0’ ueA

(Type an equation. Do not simplify.) /O - -’{_f C/ X 02 _/u) ”"fé (J)/”‘/Uf‘.?) /

Select the correct choice below and, if necessary fillin thtanswer box to complete‘ye r choice.

| O X F9A—/2 Loy (9 Flayf=0=1
() A The solution set s { X< ()("‘"‘ Q‘( + /O @Ap f ,4 [)

(Simplify your answer. Type an exact answer. Use a comma o saparate answers as

needed.) X-—-—/ = O/L /('-‘7"/)/
() B. There is no solution. X__/ ‘_/ - u.f/oz : /U -7/-)_: (1 =

Answers x(x +9)=10 X_ I ; i j /{/ — / \
A. The solution set is { 1 3 " : / !

(Simplify your answer. Type an exact-answer. Use a comma to separate answers as needed. )

é/}’ﬂ(ﬂi (Zu)(A/// [a/[,// Cos ﬂ/g;

ID: 4.6.17-Setup & Solve = —— e

— - AAET [P A

23. Find the amount that results from the glven investment. v )
) () | r=tig=./l

/o C/: Qwrlbﬁ

( $700 m\rested a[t/ 11% cbmpounded\quanerly after a period 6‘ 2 jaars /

- /) =700 ([

After 2 years, the investment results in $

4

(Round to the nearest cent as needed.) ? 70() ( "'f' /I/Q) {-H ,2 - \/(’(,r) |

Answer: 869.67 14 - 27 6 . ({é 376y

ID: 4.7.7

26 0f 28
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@uf"“,}‘) /(»/73 70000 = 20009 @ o
24. How many years ﬁ'takrfdf an initial investment of $20,000 to grow to $70 0007’ Assume a rate of mterest(of 14%
compoundéd continuously. ., 7060 = @ u oue & /% 5, ¢ ) - ST
N 20 gwna ‘-/(1/
It will take about years for the mvestment to grow to $?0 Oﬁl?f 74 {“"
(Round to two decimal places as needed.) 5'“ =~ (-—’ L€ K«C’"Cr 730 ¢ 71 7 ,(f ===

2 (. - yaRD O [Fiet
/ (%0 5) < ol Y AnlC) /’ﬁ( g €N /g“@)wm[

| a5 ) _e/‘r'C/()/ X
ID: 4.7.41 ( el \7@ ;b,LC

25. Solve the system of equatlons If the system has no solution, say that it is inconsistent.
3x —2y=1
5x +y =19

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

Answer: B.95

(O A. The solution of the system is x = andy=
(Type an integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as
{(x,y)|x = ~_,yanyreal number}.
(Simplify your answer. Type an expression using y as the variable as needed.)

() €. The system is inconsistent.

Answer: A. The solution of the system is x = 3 andy= '
(Type an integers or simplified fractions.) 5 B j ) <L

2 v

ID: 6.1.33 4

s M a A —Z .
sx —29 = (| [ ’m% S
- ] g ,/ ('7 = 2/7 = /
__2_7 C =%
21

— L

SX —+ [Y
- 74

()
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26. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

10
-1
-2x+3y—-3z=-7

X = 3y + 4z

2X+ y+ z

Select the correct choice below and fill in any answer boxes within your choice.

.3 A. The solution is x = Y= ,andz= - (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2)|x=  y= ,  any real number}.
(Simplify your answers. Type expressmns usmg 2 as the variable as needed. )

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x y.2) | x= ~,yany real number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed.)

) D. The system is inconsistent.

Answer: A,
The solution is x = -1 Y= -1 ,andz= (Type integers or simplified
fractions.) % )
) /?7€/f7;1 t// % 52/\/ C/
ID: 6.1.45 / /

—

3y /o
/ /  ~
3 -3 =

e

e

U |

Z/"Vﬁ/”'i//x/MCM / ///(24/)

\
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